MANAVA BHARATI

INDIA INTERNATIONAL SCHOOL

MID-TERM EXAMINATION (2016-17)
Class X| = Chemistry

Time allowed: 3 hours Maximum Marks : 60
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Al guestions are compulsory,

Q.Me. 1 ba 8 are very short answer bype questions and carry 1 mark each,
7. Mo, 9 told are short answer type questions carmying 2 marks each.
Q.Mo. 15 to24 areshort angwer type guestions carrying 3 marks each.
.bo. 25 and 26 are long answer type quastions carrying 5 marks each

Convert 583% A7 intg nm.,

Hiawe many electrons are present in 16 g of methane 7

An element 'A' has the configuration 1s12572p%35' and the element 8 has the configuration
1552512p, Give the fermula of the compound Tormisd.
Give values of n | |, m and £ for an unpaired ebectron in Cu (29],

Write the general electronic configuration of the element present in the third perkeo and
seventeanih group of the pariodic table.
From the following nuclel, choose the isotopes and isobars :

{i} Bp+Bn [0} Bp+an {iil) 18p+22n {iv] 20p+20n
which cambination will lead te T molecular orbitals | bonding and nonbanding both)
(i) Zpx-2oy (i} dpe+2pz Lilhy ds+2pz (V) 2py+2py

Can Dalton's law of partial pressure be applied to & gaseaus mixture of 00 and 0:7 If not why?

Calculate the mass of a photon of wavelength 3.6 A

Which out of NHy and KFy has higher dipolea moment and wiky 7

Deduce the shape of water molecule on the basis of WSEPR theory

Write moiecu lar orbital configuration of Q. Predict ils magnetic behaviour and bond crder.

Account for the following:
(i) BF; has a zero dipole moment although B—F bonds are polar
[il} The structure of NH, molacule s pyramidal
4 i

Calculate the temperature of 4 male of 8 gas occupying 5 dm® at 3,32 bar,

What 15 Kc far the foliowmg equibbriom when Hhe equilibrivm concentration of ssch substance
5 [50;] = 060 M, [O,] = 082 M and [S0,] = 1,904

S0y 0gl +0pig) o———* 50,0g)

Calcium carbonate reacts with agueous HCE to give Call; and ©0; according to the reaction ¢
Caco, (s) + HCI (@) ——— CaCl{agq) + COy (@) + H,0

Wwhat mass of Call, is required to react complately with 25 mil aof 0,75 M HCI?
Ca=dad, 00 =355, 0=16,H=1)

Calculate the percentage of Cu and Cl in the sarmple of CuCl, [ Cu = 63.5u ,Cl= 3550 )

it State Heisenberg's uncertainty principle
(i} An electron has B velocity of 50 mfs | accurabe upbo 95,99 %, Calculate the
uncertainty in focating its position,

The atomic mass of a metal is 56. Caleulate the empirical formuta of its oxsde containing 700
matal

Caiculate the molecular mass of the lallowing @ i) (COOH]L2H,0 () Na;50, {H) CaS0.
fC= 123 , H=1,Na=23,5=32,0=156,Ca=40

Give reason for the following:

iy electron gain enthalpy of noble gas is aimost zara.

Ll Ma and Mg ~ has the same number of electrons but reroval of electron from Mg *
Feguirgs mord anangy.

JHE First ionisaticn enthalipy of boron @ slightly less than that of beryllum.
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What is hydrogen bond 7 What are the two types of hydrogen bond ? Explain with suitable
example. Give two consequences of hydrogen bond,

A¥frite three important postulates of kinetic theory of gases. What are the two postulates of the
theory are defective Explain.

O
What are the dilferent types of molecular speed ¥ Explain esch by giving mathematical
expression. What 15 the relation behween the different types of speed?

(al Dafine Charla's law .
(&) A certain amount of gas occupies 8 volume of 400 ml at 1792, To what temperature
should it be heated so that the valume is reduced to half,
QR
{al What is deal gas ¥ Write equation of state for the ideal gas,
(b} Calculate the mass of 0,120 dm® of M, at 150°C and 0.987 bar pressure,
(@] Which of the fpllewing represent ground state configurations and which aré excited
state canfigurations - (i} 1s%2s%2p* (il) 1s%2s%2p%3s’3p (1) 157257 2p"35"3p"
(b} How many unpaired electrons are present in Cod+
(el What is the hybrid state of central atom in the following @ IF, and CO;
(d] Out of H,O and WS which is more polar and wiby 7 (1el+1+2]
OR
Find out the value of epch equilibria fram the value of Kp
(i) ANOCT {g) — 2ZMO {g) + Clalg), Kp = 1.B % 10 -2 at 500 K
{ii) CaCihy (%) . Call (5} OOz (g) , Kp = 167 at 1073 K
Calculate the pH of 0.4 g of NaOH dissolved in wabes to give 300 ml of solubion. (342)
il Which of the following orbitats are degenérate 7 3d,, , 4d,, , 3dy . 3d,e , 9de , +de
{ld] Wavelength of different radiations are given below: A 5 = 300 mm | A g, = 300pm,
Ao = 30M,  Age = 30 A% Arrange these radiations in the Increasing order of their
BT,
fiij  The slectronic configurations of valence shell of Cu is 3d'® 45 and not 35° 45, How is
chis configuration explained 7
[v] Qut of electron and proton which one will have a higher velocity to produce matter
waves of the same wavelength 7 Explain.
il Chiorophyll present in green leaves of plants absorbs light at 2,62 x 10" Hz. Caloulate
the wavalangth of radiation. L
OR
1] Explain the formation of sigma and pi bonds with the help of orbital disgram
(i Sigma bond is stronger than pi bond. Explain.
[wai] Why Iz that in the SF, molecule, the lgne pair of ¢lectrons cocupies an equatorial
psitien in the overall trigonal pyramidal arrangement in preference to 2n axial
s Lo,
F
| - F o
--5""; F —-5—”!
I\ F 1‘"“‘ F
F F
Eguatorial positien of axial positioen of
LOFIE PR lane pair
The dipole moawent of hydrogen halides decreases from HF (o Hi . Explain
H—F[1.78 D] H—C1107 0], H-— Bei0r90), H—1 {03804 (2=1+1+1]

Mid- Term AdsmbSEFT 016X Chemistry P ape 232



